—f
= |
A
-
P W
mR
N .
L£E| T
W =%z 3
= o 9 1oL
g T | R
_.A = ok oo LA
| ~— D
- 9.% <@ | !
Jo = | =
s O ™o <
no mﬂmu ﬁoW_/ KIr
g N O o
<l =
:-— 5 @
= | K
E .W._E .u.o
= | pn
' =
o | 7
E| me <
IIH T oll
1B A
Fox | N
W -

Xl 0l

3§

10
80

L-19 &

A

g1t

=EF US018Al

L

o)
<M

1

M)
LA

ol

0l

_)
Ok

<d

S
I

Ay A2 Z2U-19 AIS A2 Ay

oA ZZY-19

—

0
o

o
ThH
2!

f—

0

o}/
i

—_
lile]

gk,

7N &

W 2719

=24
T840l wobgol wel &71dn e HeAda dFBZANN AZ

o

}1\_]:

o AdE BN 22119 &

=
™

[] o] =

T

F A2l

olE oA &El7] 4
of wz} 9. 4.(=) 15A] -8 77 E (YouTube)

al

—_
file}

=]

A

= AFA =2 AP

74 AH
(=]

3

(https:/ /youtu.be/yrCnDAWCxnd) S &

-

- ‘CtSo|SAld &7 [-H|”

o

G Bl thEel g4 Y



+
g

ﬁo
0
o
\_I/.”

BH
NE

,mo

o

714481 9] FoA7olgk= FARE &7

Y

Al

o] EE0 Ut

T &714st

ﬂl

P
T

4 A9}
=

GHAIHH

o
[uind

|

leto g ),

FZ1}-19
Aol = AnARYY 2y

=

=

=

of Hlo] E=R-9]

23
oIt F

=
S

=
lox|
=
LH

F

st

S

o] g A1 4 ¢}
=

Al S

Ct XEAl
S ARZHB 044-201-4585)01H1 HSH=AID| HHELICH

3L

A=

=
T

T

T—

A A
AA =eold W&o] ZE1}-19

=N
=

)
=

At B &71a e

A

=12
Y 52 =98 otk

=13




Z0
o
Kio
o >
T -~ 20
I mw ~
2550 :
aﬁ*gﬁﬁ \L
~ B~ N N o 5o
&0 ﬁo%ﬂ._otmﬂ or Mm._mm._.r <k
= i o 1 L. fol ol o r
o1 oo Lok oo X M %0 fHo Ho &
— o = o N~ = - =~ T of OF o
101 = Mn 10 0 = ﬂ_.o ol <4 0l N T T ) RO
B KO N oF mo u._m RO - M_ MUV B0
ofo Ho ol y B0 ol oo & o BT fof Z0 oH
T oW proN g BN E ST E %Ry
n KO = = o I nO A o)) xu A_I o A/_ll\ A/_ll\ o7l ol —=
— .r.ﬂui O = © - 1t ERE o —
= ﬁ T Bl 4 II._I jol’ .OlJ |_HH_ II._I . &1 ﬂ ﬂ _I_I jof &0
o2 Ko rl MO = © m © Rl = = 81 ® RO
- = Moa_m_sm_u 3 EAFAI_.SME
F oz E CHom MM Ko 8l ) 5 o
oo O < My A3 I I S
NNoT H X o ™ X o o o T
o I L& T 9 %8 ok S0 HH W
oo = o - L o owo ¥ oW X R W o
= — U T < XK ST T NN DO o
50 I 3 qo oo H G0 T oo < o0 W ol o BB h
Ko i & = 9wl S o 2 [ < X T T oK
— @~ ~— ]@%ML%:_'%EO WI_N.IQ...... —
I I S N Ss-J22I22 ot
U ME < T & " w nd oK K K K K K K il
< I N0 RO =T ol K =3 =3 = w (NI N Y T Y 0
> K- T el = < E;_._;_._EE._E._E._E ]
— — {oE L A o
! m_.._/
=< 2 = G =T - 8 M S M QM
S8 2 22 v g8 < e =g -




